# AMENDMENT NUMBER ONE TO FAMILY PRESERVATION PROGRAM CONTRACT NUMBER 05-027-10 WITH CITY OF LONG BEACH

## 29389

This Amendment Number One to the Family Preservation Program Contract ("Contract") adopted by the Board on July 26, 2005, is made and entered into by and between the County of Los Angeles ("COUNTY") and City of Long Beach ("CONTRACTOR"), this 30th day of JUNE, 2008.

WHEREAS, COUNTY and CONTRACTOR are parties to a Contract and CONTRACTOR has been providing Family Preservation (FP) Program services to the COUNTY; and

WHEREAS, it is necessary to amend a provision of the Contract to maintain consistency among legal provisions of all FP contracts; and

WHEREAS, the Board letters of July 26, 2005 and August 16, 2005 delegated authority to the Director of DCFS to execute amendments to increase or decrease the maximum contract amount by 10 or 25 percent of the original maximum contract amount to accommodate an increased or decreased service need, but the contract provision inadvertently allowed only for an increase, but not a decrease;

NOW THEREFORE, COUNTY and CONTRACTOR agree to modify the Contract as follows:

- 1. Part 8.0, STANDARD TERMS AND CONDITIONS, Section 8.4.4, CHANGE NOTICES AND AMENDMENTS, and subsections 8.4.4.1 through 8.4.4.4 are deleted in their entirety and are replaced to read as follows:
  - 8.4.4 Notwithstanding the provisions of Sections 8.4.1 and 8.4.2, COUNTY's Director may, without further action by COUNTY's Board of Supervisors, prepare and sign amendments to this Contract which increase or decrease payments to CONTRACTOR which are commensurate with increases or decreases in the units of service being provided under this Contract under the following conditions:
    - 8.4.4.1 Without limiting COUNTY's options to terminate this Contract as provided herein, COUNTY's total payments to CONTRACTOR shall not increase (decrease) more than twenty-five (25) percent per year and in the aggregate above (below) the original Maximum Annual Contract Sum during the term of this Contract.
    - 8.4.4.2 COUNTY's Board of Supervisors has appropriated sufficient funds for all increases described in each such amendment to this Contract, or for decreases, the COUNTY's Board of Supervisors has determined it may have insufficient funds or

for other reasons may decide not to cover a portion of the NCC portions of the Contract amounts in all such Contracts.

- 8.4.4.3 Approval of County Counsel and the Chief Administrative Officer is obtained prior to any such amendment to this Contract; and
- 8.4.4.4 The Director shall notify COUNTY's Board of Supervisor, Chief Administrative Officer, and County Counsel of all Contract changes, in writing, within fifteen (15) days following execution of such amendment.

EXCEPT AS PROVIDED IN THIS AMENDMENT NUMBER ONE, ALL TERMS AND CONDITIONS OF CONTRACT SHALL REMAIN IN FULL FORCE AND EFFECT.

# AMENDMENT NUMBER THREE TO FAMILY PRESERVATION PROGRAM CONTRACT NUMBER 05-027-10 WITH CITY OF LONG BEACH

IN WITNESS WHEREOF, the Board of Supervisors of the COUNTY of Los Angeles has caused this Amendment Number One to be subscribed on its behalf by the Director of the Department of Children and Family Services and CONTRACTOR has caused this Amendment Number One to be subscribed in its behalf by its duly authorized officer as of the day, month and year first above written. The persons signing on behalf of the CONTRACTOR warrant under penalty of perjury that he or she is authorized to bind the CONTRACTOR.

COUNTY OF LOS ANGELES

Just Placker

Patricia S. Ploehn, LCSW Director, Department of Children and Family Services City of Long Beach CONTRACTOR Assistant City Ma By TO SECTION 301 OF THE CITY CHARTER. Patrick West Name Title City Manager APPROVED AS TO FORM By ROBERT E. SHANNOW, City Attorney Name LINDA FRAING Title DEPUTY CITY ALTORNEY Tax Identification Number APPROVED AS TO FORM BY THE

By Approval Signature on File Deputy County Counsel

OFFICE OF COUNTY COUNSEL RAYMOND G. FORTNER, JR.

### **EXHIBIT B**

### BUDGET (August 1, 2005 - June 30, 2008) For

F	ΑI	V	IL'	Υ	P	₹E	SI	EF	۲V	Ά	T	10	N
---	----	---	-----	---	---	----	----	----	----	---	---	----	---

Agency Name: City of Long Beach, Department of Health and Human Services - Lakewood

ITEM		Eleven Month Budget Period (08-01-05 - 06-30-06)		Twelve Month Budget Period (07-01-06 - 06-30-07)		Twelve Month Budget Period (07-01-07 - 06-30-08)		Total Budget Period (08-01-05 - 06-30-08)	
PROGRAM EXPENSES									
I. DIRECT COST:									
A. Salaries and Employee Benefits	\$	336,978.20	\$	367,612.59	\$	334,278.27	\$	1,038,869.06	
B. Facility Rent/Lease	\$	-	\$	-	\$	-	\$	-	
C. Equipment and/or Other Assets Leases	\$	16,775.00	\$	18,300.00	\$	18,300.00	\$	53,375.00	
D. Services and Supplies	\$	231,899.50	\$	252,654.00	\$	252,654.00	\$	737,207.50	
E. Other	\$	-	\$	_	\$	-	\$	-	
II. ADMINISTRATIVE AND INDIRECT COST:	(Max.	10% OF Max. An	nual	Contract Sum)					
A. Administrative Overhead	\$	9,662.30	\$	10,868.41	\$	6,359.73	\$	26,890.44	
B. Other	\$	-	\$	-	\$	-	\$	-	
TOTAL GROSS COST OF PROGRAM	\$	595,315.00	\$	649,435.00	\$	611,592.00	\$	1,856,342.00	
INCOME/REVENUE									
A. Projected County Allocation	\$	595,315.00	\$	649,435.00	\$	611,592.00	\$	1,856,342.00	
B. Private Funding, Other Revenue, &/or In-Kind Match	\$	-	\$	-	\$		\$		
TOTAL INCOME/REVENUE	\$	595,315.00	\$	649,435.00	\$	611,592.00	\$	1,856,342.00	

ATTACHMENTS (3): Budget Justification Narrative and Line Item Budget for each twelve-month budget period.

#### ATTACHMENT TO EXHIBIT B

#### LINE ITEM BUDGET (July 1, 2007 - June 30, 2008) For

			/ATION
FA	MILY	PRESER!	/AIION

Agency Name: City of Long Beach, Department of Health and Human Services

ITEM	Twelve Month Budget Period (07-01-07 - 06-30-08)		
PROGRAM EXPENSES			
I. DIRECT COST:			
A. Salaries and Employee Benefits			
Project Manager (FTE: 0.30) \$5,714.83 x 12 x 30% =	\$	20,573.39	
Clinical Director (FTE: 0.65) \$5,292.00 x 12 x 65% =	\$	41,277.60	
In-Home Outreach Counselors (FTE: 2.50) \$3,132.33 x 12 x 2.5 =	\$	93,969.90	
T&D/SARM Associate (FTE: 1.00) \$2,827.24 x 12 =	\$	33,926.88	
Billing Program Support Associate (FTE: 0.65) \$2,912.67 x 12 x 65% =	\$	22,718.83	
Front Office Coordinator (FTE: 0.30) \$1,910.33 x 12 x 30% =	\$	6,877.19	
Clerical Assistant			
Anger Management Facilitator (FTE: 0.05) \$3,132.33 x 12 x 5% =	\$	1,879.40	
Budget Analyst (FTE: 0.025) \$5,430.00 x 12 x 2.5% =	\$	1,629.00	
Total Salaries	\$	222,852.18	
Employee Benefits @ 50% =	\$	111,426.09	
Total Salaries and Employee Benefits	\$	334,278.27	
B. Facility Rent/Lease	\$	-	
C. Equipment and/or Other Assets Leases	1		
Photocopy Machine 1 copier @ \$250.00 x 12 =	\$	3,000.00	
Computer Information Services (6 PCs networked, 3 printers) \$1,275.00 x 12 =	s	15,300.00	
	<del>                                     </del>	18,300.00	
Total Equipment and/or Other Assets Leases	\$	18,300.00	
D. Services and Supplies	\$	2 160 00	
Intern Stipend \$240.00 x 9 months =	\$	2,160.00	
Subcontracting Agency: Joint Efforts 12 x \$1,050.00 x 12 =	+	151,200.00	
Subcontracting Agency: Parents Anonymous \$2,000 x 12 =	\$	24,000.00	
Subcontracting Agency: Masada Homes \$1,027.00 x 0.50 avg client/mo. x 12 =	\$	6,162.00	
Subcontracting Agency: Boys & Girls Club \$500 x 12 =	\ <u>\$</u>	6,000.00	
Transportation \$45.00/hr x 4hrs x 2 days x 52	\$	18,720.00	
Mileage 4 staff x 600 miles per month x \$0.365 per mile x 12 =	\$	10,512.00	
Hotel Vouchers \$50.00 x 3 nights x 1 client x 12 months =	\$	1,800.00	
Printing \$15.00 a month x 12 months =	\$	180.00	
Utilities \$325.00 a month x 12 months =	\$	3,900.00	
Office Supplies \$180 a month x 12 months =	<del>  \$</del>	2,160.00	
Telephone Usage \$650.00 a month x 12 months ≈	\$	7,800.00	
Answering Service \$100.00 a month x 12 months =	\$	1,200.00	
Postage \$25.00 a month for 12 months =	\$	300.00	
Security \$1,300 a month x 12 months =	\$	15,600.00	
Facility Maintenance \$65.00 a month for 12 months =	\$	780.00	
Discretionary Services/Items \$15.00 a month for 12 months =	\$	180.00	
Total Services and Supplies	\$	252,654.00	
E. Other	\$	<del></del>	
II. ADMINISTRATIVE AND INDIRECT COST: (Max. 10% OF Max. Annual Contrac		0.050.70	
A. Administrative Overhead	\$	6,359.73	
B. Other	\$		
TOTAL GROSS COST OF PROGRAM	\$	611,592.00	
INCOME/REVENUE	1.	044 500 65	
A. Projected County Allocation	\$	611,592.00	
B. Private Funding, Other Revenue, &/or In-Kind Match	\$		
TOTAL INCOME/REVENUE	\$	611,592.00	